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01 AtR2telt] 1,040 1,340 A300
O2=ol28 JIER 1,040
O M 2 &x
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OZxoi28 I A=E 7
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CCVEE 2N 23 1,339,948 1,290,097 49,851




SA erE 2|
MM MEOIN |t XA
el CCIVEEZHMINE 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 22,800
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201 er23 | 621,028 538,405 82,623
01 At2teltl 3,700 3,220 480
Odgt+==H| 3,700
O=ADLERE EH(EY)ARE 78
450,000 22 900
OZMEEH 28 85 7Y
300,000 432 1,200
OSBURME SHIARS & 2g
100,000 8 »23] 1,600
02 S3=gHl 617,328 535,185 82,143
O0s&s2= € MA 310,404
OCCNVED 2= 5,300& x380J4 2% 123 24,168
ouvEEd=
58,7502 x3002] H* 122 274,950
OXSSulCIVESE 2 MME HH HS=lH
S(LSHISEIHHLS)
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OAIE2EHI= X 306,924
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38,604,000 * 14| 38,664
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76,320,000& x14] 76,320
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77,520,000 * 14 77,520
ZHH Al E 3t 254,036 275,705 A21,669
405 KHoHFSHI 254,036 275,705 A21,669
01 ML ESFSHI 254,036 275,705 A\21,669
OXSE XBUSOIA SBSMAAY 75
1,100,000 71CH 78,100
OZMAIAE == WM & 54 159,400
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OZMAIAE(WS) etoldA B4
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(@I [PSE= 1,070,000 *1CH 1,070




SA erE 2|
Ma: MEOIE Juh X4
el CCIVEEZHMINE 22 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
oAt E 363,000 = 16CH 5,808
Ocl=24 587,000&*15CH 8,805
OPCE 27,5002 +31CH 853
CCTv &£ X 388,884 475,987 /87,103
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401 AlZHIZ SO 76,000 0 76,000
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o 53,200
01 Al&HI 76,000 0 76,000
OXIs¥ CCvV &X 76,000
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= 53,200
SCHAHOH Ol 2t 81,400 0 81,400
SUIHOHOIZE 0t OrMSH A S =4 81,400 0 81,400
S HOH O 2 AFS 30,000 0 30,000
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HHY =T ZH 4,800 3,000 1,800
203 SR =L 4,800 3,000 1,800
M FA2HARFAI 4,800 3,000 1,800
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01 AtR2telbl 14,835 14,835 0
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o=l 7,000
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01 30,000 36,000 26,000
202 044l 30,000 36,000 26,000
01 =LHO LI 30,000 36,000 26,000
O=U0bl 30,000
A2aH| 449,326 434,116 15,210
Q14| 449,326 434,116 15,210
101 @124H| 402,382 434,116 N31,734
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Olfgrgsl 50,0002+ 12F 122 7,200
WM H=RE=S 46,944 46,944
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